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Direction (1 - 8): Fill in the blanks with correct adverb

in the following sentences. 10. Roger came earliest of all.
(a) Positive (b) Comparative
1. Iam _____ delighted to see you. (c) Superlative (d) Either (b) or (c)
(a often (b) much (e) None of these
(c) seldom (d) enough
(e) None of these 11. You write better than your sister.
(a) Positive (b) Comparative
2. He is well. (c) Superlative (d) Either (a) or (c)
(a) very (b) much (e) None of these
(c) quite (d) enough
(e) None of these 12. He has done the work more carefully.
(a) Positive (b) Comparative
3. I am glad to see you. (c) Superlative (d) Either (a) or (b)
(a) very (b) away (e) None of these
(c) seldom (d) enough
(e) None of these Direction (13 - 20): A sentence is given in each question.
Find the part of the sentence that has an error.
4. I am prepared.
(a) full (b) not 13.
(c) fully (d) enough Since when you taken to
(e) None of these have smoking?
1 2 3 4
5. I am sorry for the delay.
(a) very (b) much (@) 1 (b) 2
(c) too (d) enough (c)3 (d) 4
(e) None of these (e) None of these
6. He works at all. 14.
(a) very (b) much [am never late for school.
(c) too (d) hardly 1 2 3 4
(e) None of these
(@1 (b) 2
7. She plays hockey . (c) 3 (d) 4
(a) good (b) well (e) None of these
(c) hardly (d) very
(e) None of these 15.
I ftenly isit m
8. I remember the house ___ 1 was born. B e e pag‘rzns.
(a) where (b) very much 1 2 3 4
(c) in which (d) how
(e) None of these (a) 1 (b) 2
(c)3 (d) 4
Direction (9-12): Choose the correct degree of (e) None of these
the adverb in the following sentences and mark
your answers. 16.
9. Serena ran faster than Venus. Fe mr%ss V}Vlg? DL
(a) Positive (b) Comparative 1 2 ? a
(c) Superlative (d) Either (a) or (b)

(e) None of these



17.

18.

(c)3 (d) 4 (e) None of these
(e) None of these
19.
The kitten is to energetic.
He is little known outside 1 2 3 4
India.
1 2 3 4 (@1 (b) 2
(c)3 (d)4
(@)1 (b) 2 (e) None of these
(c)3 (d) 4
(e) None of these 20.
It will | probably | rains evening.
this
I have almost | finish. 1 2 3 4
1 2 3 4
(@)1 (b) 2
(@)1 (b) 2 (c)3 (d) 4
(c)3 (d) 4 (e) None of these
Answer
1. (D) 2. (C) 3. (A) 4. (B) 5. (C)
6. (B) 7. (B) 8. (C) 9. (C) 10. (C)
11. (A) 12. (A) 13. (A) 14. (B) 15. (C)
16. (C) 17. (C) 18. (C) 19. (A) 20. (A)




